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Choose the incorrect statement about the following catalytic hydrogenation.
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¢ (A) The syn addition of hydrogen gives the cis isomer as the major product.

¢ (B) The minor product occurs as the result of a catalyzed isomerization of the reactant.
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¢ (C) The catalyst (Pd/C) speeds up the reaction by stabilizing the major product of the reaction.

¢ (D) The minor trans isomer is actually present as a racemic mixture.

c (E) The reduction of 3,3,6,6-tetramethylcyclohexene would be predicted to occur at a slower reaction rate.
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